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lkm/h #, @ 9d St § ©IR & 9 T4 Hife)

T Al A SIRB o o #3210 km 1 A 3R BH & R % 9 faqdia
feometl & <o YRY A € de 3 W & oI% Sk o #I & s4km 71 AR TH
FR 1 = TEH FR FT 91 T 8km/h FH T, @ T&F FR HI A [1G B

T g2 Toh Uoi oM o faq T 2600 ol 81 SEH FANT i T Wl T @na
T 1100 T o1 A9igd 3 200 9fq w1 71 Sgd 7 fRa we wed fwan?

x o f&9 90 & fau, 9 sTRR &1 9REm™ 77cm @72

(x + m+ 1)

(x+2) @2x+ 1)

2x+ 2)
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111. x & 69 o9 o fou, 9 o7eRr %1 9 186cm 272

<———(bBx+6) —>

T

(2x + 66)

l

112. T 200 %1 A 3R B ¥ 39 ¥R fauifsa &0 W o6 A 570 9 1wl afd s S
B 51 U< i TR R 6 A § T 200 %W B, B 7 U 1 T AR 9wt

113. AYfas 3 T Ge del, SHehl S fhar ik su 20 Sign uRomd gen @i
25 9 9N W W IY 4 I el 21 9 @ 4 7?2

(D) 3TEN, @t 3R wferat .

1. UM T Teell TRkt 1 Hieee Hek SIHAT =iedt offl g Tfee 3 U =
Teltl U9 U ek 39 w9 A fean-
9XYZP1Q2R3
et & I el ok 30 = Tl a1 wera 9 fedle #i-
(a) 16X-35=7X-8

Y7 1

(b) 3Y+9 3

© £=2-3

55722 9
3 13
°p==2

(d P+75% =10

) 4Q+4)=5Q+2)
(f) 3(R+10) + 200 = 236

2. T ¢ el ¥ o=E U fAuifa wifsu-

Qo=
OO =
ORI -




ThTs -4

3. Wa- A w@uta e

Ufed 3K IR TF B B © 21 S 1 Tl F wd O, Fal fosar s
d Hife fof AfE 9 39 TM W B, O = 29 fosar gl fha omafn o

3T Fheaesh Tgad?

e o fEm

(@) =fE U fysen I wE 8, a4 o9 P YUY W S Hehd o

(b) S =1 ufr & e

9T W&

Sfret Wt wiyr

© 0 N O O b W N -

% 1000

< 2000

< 3000

% 4000

% 10,000
< 12,000
% 14,000
% 20,000

% 40,000

% 1,00,000

. x+1 3
(@) 2x+7 8
2
i 1+ =2
(i) (x+1)
(i) 6x+1+1_x—3
iii 3 6
8

(iv) 3m=7m—7

® -x= 2 (x-10

122  yyA et v - et 8

12/04/18



7 3
i Bx+— = —x-14
(vi) 5 =5

o Xy _8
Vi) 5 15

L x 8x Bx_,
(viii) 5t 6

(ix) @+4=14

(x) x+§x+7=97——
4. TE WL &F WG FHE FRIAC

HHIARTO K Higd S

JEYIeh TR FU R i THiehor e

Symbol
Bx-6=4 © D | D WO
<>} g =x
ﬁﬁﬁ®®=® —_
DhHioo | D= +1
o | o
ﬁﬁﬁ@@ D> D
U0 Sl T e & T ST o
o | e _ :
oD |lo® ﬁm’ e W.:} ST SR
o @ |l T g F Eer

5x-6+6=4+6

Uuyg > D

O O D D

o Tl ® 7 SR adT B TG TR
DD el 4 efked Hifsa

U D D

5x =10




THS -4

(i)
(ii)
(iii)

5.

Yk Y 2 oA Al O gAfad @ S 81 e, x = 2 @l
=1 wefien o dfed SEE-

3x-3=12
12x+4 =24
7Ty+ 14 =7
WAaE Ugel-
f4u U wigae & gt Hifoy 3R Ky 8T @ml &l 9w 9@ o fau, g i
TS I % Hohd XU €| W &, THIG SR T8A o Gohdl o foly GEAd @E
% HH W fore &1 Hohdl o S SIS o &l T A 9% Gd @l H 9w

Inverse of addition

. TN T Yiqed|

A symbolic form made up of constants, variables and operation (other
then algebraic expressions)

I, = SN diermet § o Uw Gichfdeh &9 (S sSR! o SAfafer) |

5. If a term of a expression consists of a number multiplied by one or

® N N o O

2.

more variables this number is the of the term.

I fFefl =St oh 95 H Teh &A1 &1 Th A1 s = 0T &, af 98 de 39
g 2

Inverse of Division.
faursm =1 gfae
Equations that have the some solution.

HHE &1 Scil HHIhL|
An in an equality which in true for all values of the

variable in the equality.

T og Wiyt &, S 9kt o =) % 9 9Hl o faw w3 @l

A statement formed when an equal sign in placed between two
expression.

T FSlehl o o9 | A U8 S W o Th e
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10.

10.

11.

11.

Tfura

This is an example of what property 2(x+5) = 2x+10.

TR TH IIE 2(x+5) = 2x+10 2

iohfash HeAst T Gihaetl ¥ wafda wIford 1 eman

Brach of mathmatics concered with operation by symbolic numbers.

A linear equation of the form Ax + By = C when A and B are not both
zero is in the

Ax + By = C o &9 &l @ Gl 56 A 3R B <H T @ I 7 @ 30

" 2l
An expression is if it has no grouping symbols
and all the like terms have been combined.
EAERSEED FEA T, AT STH HIE GUEA Gehad T B ql

qoff THA Ug) w1 G w1 forn w2
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